
����������	
��	����

��	���������������������������

���������������	
����


�����������	�	��	�� ��!�����"�

���������	
��
�
���	
�
���	�	

�	�
����	


����
��

���
	

��
���������������
������
� !�"�
#$�
��$�%
�&'()*+���

�,�-#./0�$/
12
345%�161�5
#$�
!�174�0�%/.5�
�#786/5
12
��/�.�$#.5
�7��$7��
�9�$/
&%/�:$
;$���.%�/5�
���<��
!8�#-�%/�
3�=�
!1>
�?
�,�-#./0�$/
12
345%�161�5�

��%�#.74
&$%/�/8/�
12
($�0#6
!.����$�
#$�
)8/.�/�1$�
��.7��4#610�
�8$�#.5

@��7�����
A8$�
���
����?
#77�-/��
=7/1B�.
���
����C

�4�
#B%1.-/�1$
12
/4.��
#0�$1
#7��%
@6�87�$��
#6#$�$�
#$�
65%�$�C
2.10
/4�
D#%4���
 761%��
 .80�$
D#%
 %/8����
 �$
 #
 %41./�/�.0
 @E�
0�$C
 �>-�.�0�$/
 	
� "	���
�4�
71$7�$/.#/�1$
12
6�87�$�
#$�
#6#$�$�
���
$1/
74#$��
�$
/4�
.80�$
�8.�$�
/4�
�>-�.�0�$/�
D4�6�
/4#/
12
65%�$�
71$/�$818%65
��7.�#%���
#$�
<�F
12
/4�
/1/#6
65�
%�$�
-6#7��
�$
/4�
.80�$
D#%
#B%1.B��
�8.�$�
/4�
�>-�.�0�$/#6
-�.�1��
�4�
.#/�
12
#B%1.-/�1$
��7.�#%��
�$
-.1-1./�1$
/1
/4�
2#66
12
#0�$1
#7��
71$7�$/.#/�1$�

���
������
(0�$1
#7��%�
6�87�$��
#6#$�$��
65%�$��
#B%1.-/�1$�
.80�$

�4�
 1.�#$�7
 710-1$�$/%
 12
 2���%
 8$��.�1
 %8B%/#$/�#6
 /.#$%21.0#/�1$
 �$
/4�
 .80�$
�8�
 /1
 /4�
 �22�7/
 12
 %50B�1/�7
0�7.11.�#$�%0%�
,��/#.5
 -.1/��$%
 #.�
���.#���
/1
-�-/���%
#$�
#0�$1
#7��%
B5
0�7.1B�#6
-.1/�#%�%�
�4�
.#/�
12
-.1/��$
���.#�#/�1$
 �.�#/65
 ��-�$�%
 1$
 /4�
 710-1%�/�1$
 12
 /4�
0�7.1261.#�
0�7.12#8$#
#$�
1$
 /4�
G8#6�/5
12
���/#.5
-.1/��$�
�#.6��.
D�
 218$�
 /4#/
 	
� #	��$
 /4�
 .#/�
12
-.1/��$
���.#�#/�1$
D#%
#6%1
�$268�$7��
B5
/4�
#0�$1
#7��
71$7�$/.#/�1$�
&2
 /4�
�$78B#/�1$
0�>/8.�
71$/#�$��
2.��
#0�$1
#7��%
 �$
#
71$7�$/.#/�1$
12
��
0016�6
#$�
�<
0016�6�
 /4�
 .#/�
12
 7#%��$
���.#�#/�1$
 ��7.�#%��
 B5
 ��F
#$�
��F�
 . ��
%-�7/���65�
 #%
 710-#.��
 /1
 D4�$
 /4�
 �$78B#/�1$
 0�>/8.�
 ���
 $1/
 71$/#�$
 2.��
#0�$1
#7��%
@��.�%��54:95
�/
#6��
����C�
�1D���.�
-.1/��$
���.#�#/�1$
�1�%
$1/
�$�
D�/4
 /4�
 21.0#/�1$
 12
 -�-/���%
 #$�
 #0�$1
 #7��%�
 %�$7�
 /4�
 .�6�#%��
 #0�$1
#7��%
 8$��.�1
 #$
 �$/�$%���
 ��#0�$#/�1$
 -.17�%%�
 �4�
 B#7/�.�#
 7#$
 %5$/4�%�%�
#0�$1
 #7��%
 2.10
 2.��
 #001$�#
 #%
 #
 $�/.1��$
 %18.7��
 �4�
 710-1%�/�1$
 12
 /4�
#0�$1
#7��
-116
#�#�6#B6�
21.
 %50B�1$/%
�.�#/65
��/�.0�$�%
 /4�
 �$/�$%�/5
12
 /4�
��#0�$#/�1$
 -.17�%%�
 &2
 0�/4�1$�$�
 #$�
 �#6�$�
 71$%/�/8/�
 /4�
 1$65
 #0�$1
 #7��
%18.7�
21.
/4�
%50B�1$/%
12
/4�
.80�$�
/4��.
���.#�#/�1$
D�66
B�
12
#
4��4�.
.#/�
/4#$
�2
/4�
%#0�
D�.�
#�#�6#B6�
21.
/4�
0�7.11.�#$�%0%
�$
/4�
21.0
12
#0�$1
#7��
0�>/8.�%
 @+4#68-#�
��E�C�
�4�
71$7�$/.#/�1$
12
 2.��
 #0�$1
 #7��%
 �$
 /4�
 .80�$
71$/�$/
�#.��%
�$
/4�
-�.�1�
B�/D��$
/D1
2����$�%�
�4�
4��4�%/
71$7�$/.#/�1$
7#$
B�
0�#%8.��
�$
/4�
�$�
1.
�.�
418.
#2/�.
2����$��
#$�
/1/#6
71$7�$/.#/�1$
12
/4�

������������������������������������������������
���0#�6H
/��.�%I8$���/�48?
�#>H
J��
@�C
<EK�<���

brought to you by COREView metadata, citation and similar papers at core.ac.uk

provided by Repository of the Academy's Library

https://core.ac.uk/display/78480763?utm_source=pdf&utm_medium=banner&utm_campaign=pdf-decoration-v1


K� ������������
�/
#6�

����������	
��	����

��	�����������

#0�$1
#7��%
0#5
�>7���
�L��
0016�6
@M16B�
��E<C�
&2
/4�
#7/���/5
12
��#0�$#%�%
D#%
�$4�B�/��
B5
#�1-#.7�$�
/4�
2.��
#0�$1
#7��
G8#$/�/5
12
/4�
.80�$
71$/�$/
� $�
7.�#%��
/1
�#68�%
#%
4��4
#%
�<��
0016�6
@�.1�/%74�66
�/
#6��
��K�C�

(%
.��#.�%
/4�
28./4�.
2#/�
12
2.��
#0�$1
#7��%�
0874
N$1D6����
4#%
B��$
�#/4�.��
 1$
 /4��.
 0�7.1B�#6
 8/�6�%#/�1$�
 ��#0�$#/�1$
 #$�
 -#%%#��
 /1D#.�%
 /4�
#B10#%80�
�1D���.�
 6�//6�
�%
N$1D$
1$
D4�/4�.
 /4�5
#.�
#B%1.B��
/4.18�4
/4�
.80�$
D#66
#$��
�2
5�%�
D4#/
/4�
.#/�
#$�
/4�
74#.#7/�.�%/�7%
12
/4#/
/.#$%-1./
-. 1�
7�%%
 #.�
 6�N��
 &$
 /4�%
 �>-�.�0�$/�
 /4�
 -1%%�B�6�/5
 12
 /4�
 #B%1.-/�1$
 12
 #6#$�$�
@(6#C�
6�87�$�
@"�8C
#$�
65%�$�
@"5%C
D#%
%/8����
 	
�"	���

����� �!�
�"�
#��$���

�4.��
!.�/�%4
'�6N
�D�%
@#��.#��
B1�5
D���4/H
K�
N�C
D�.�
8%��
 �$
 /4�%
�>-�.�0�$/�
��.%/
#
 .80�$
 2�%/86#
D#%
-.�-#.��
 %8.��7#665
1$
�#74
#$�0#6�
 /4�$
/4�
1-�$�$�
12
/4�
2�%/86#
D#%
761%��
D�/4
#
!#.
,�#01$�
K+
/5-�
7#$$86#
@3�=�
!1>
 ���
 !#.
 ,�#01$�
 "#$��
 3#.0#�
 &,
 K���������C�
 �4�
 �>-�.�0�$/%
 D�.�
%/#./��
#2/�.
/4�
#$�0#6%O
2866
.�71��.5�
�$
/4�
�/4
D��N
#2/�.
/4�
1-�.#/�1$�

(/
 /4�
B���$$�$�
12
 /4�
�>-�.�0�$/
 /4�
#$�0#6%
D�.�
-8/
 �$
#
748/��
#$�
/4�
.80�$
71$/�$/
D#%
7166�7/��
�$/1
#
71$/#�$�.
/4.18�4
/4�
1-�$�$�
12
/4�
2� %�
/86#�
�4�
.80�$
71$/�$/
D#%
N�-/
8$��.
#$#�.1B�7
71$��/�1$%
#/
�� 
P+
/4.18�418/
/4�
�>-�.�0�$/�
�4�
21.�%/10#74%
D�.�
D#%4��
D�/4
B1�5�D#.0
/#-�D#/�.
8$/�6
/4�
�2268�$/
B�7#0�
76�#.�
�4�%
8%8#665
 .�G8�.��
�L�
7576�%
12
D#%4�$��
�8B% ��
G8�$/65
 /4�
 01��2���
 ��.%�1$
 12
 /4�
 #--#.#/8%
 ����61-��
 B5
 �$��64#.�/
 #$�
�#660#$$
@��E�C
21.
/4�
�%16#/�1$
12
.80�$
D#%
-8/
�$
-6#7��
�4�
�%%�$7�
12
/4�
01��2�7#/�1$
 �%
 /4#/
 /4�
#--#.#/8%
D#%
 2�//��
8-
D�/4
 /D1
 �$26#/#B6�
 .8BB�.
B# 6�
611$%
.#/4�.
/4#$
1$��
/1
416�
�$
-1%�/�1$
/4�
761%�$�
#--#.#/8%
/1
B�
-6#7��
�$/1
/4�
1%/�80
.�/�786110#%�780?
/48%�
/4�
761%�$�
#--#.#/8%
7186�
$1/
01��
�$
#$5
��.�7/�1$
 �8.�$�
 /4�
 �>-�.�0�$/�
 �4�
 ��#0�/�.
 12
 /4�
 761%�$�
 756�$��.
 D#%
 � $�
7.�#%��
/1
��
00
2.10
/4�
1.���$#6
��
00
/1
�$%8.�
01.�
%�78.�
2�>#/�1$�
(%
D�
7186�
 $1/
 2�>
 �$
 /4�
 1�%1-4#�8%
 /4#/
 -#./
 12
 /4�
 #--#.#/8%
 D4�74
 %�.���
 21.
�.#�$�$�
122
%#6��#�
#
N$1D$
#018$/
12
+.��,�(
D#%
#����
/1
 /4�
#0�$1
#7��
%168/�1$
 �$
 1.��.
 /1
 0�#%8.�
 6�G8��
 �1680�
 74#$��%
 �8�
 /1
 %#6��#.5
 %�7.�/�1$
�8.�$�
/4�
�>-�.�0�$/�
@3.�-#.#/�1$
12
+.��,�(H
�K�<
�
+.+6 �
Q
�
��=
J
<�
�
)#��,�(
�$
���
6
�1680�
D#%
711N��
21.
�
4�
�>7�%%
�,�(
D#%
.�01���
B5
K
06
�
016�6
+#+6�
%168/�1$�
�4�
-�
D#%
#�R8%/��
/1
#
�#68�
B�/D��$
�
#$�
E
B5
/4�
#���/�1$
12
)#=��
#$�
/4�
%168/�1$
D#%
0#��
8-
/1
�
6�C

(2/�.
�%16#/�1$
12
/4�
.80�$
/4�
1-�$�$�
12
/4�
2�%/86#
D#%
761%���
�4�
%# 0�
-6�$�
/8B�
D#%
-6#7��
#/
/4�
0���6�
-#./
12
/4�
7#$$86#
#--6���
21.
/4�
/�0�
12
/4�
�>-�.�0�$/�
$�>/
/1
#
-6#%/�7
/8B�
/4#/
%�.���
21.
�$26#/�$�
/4�
.8BB�.
B#6611$
12
/4�
761%�$�
����7��
S�/4
#
<���06
%5.�$���
�K��
06
-45%�161��7#6
)#+6
%168/�1$
D#%
�$R�7/���
#$�
/4�$
�$
���
06
�1680�
<��
�
#0�$1
#7��
D#%
-6#7��
�$/1
/4�
.80�$�



(!�=�3�&=)
=�
('&)=
(+&,�
��='
���
�;'�) K�

����������	
��	����

��	�����������

�4�%
D#%
21661D��
B5
/4�
�$R�7/�1$
12
�
06
+.��,�(
#$�
/4�$
/4�
6�G8��
�1680�
D#%
0#��
8-
 /1
����
06�
�4�1.�/�7#665
 /4�
7#6786#/��
71$7�$/.#/�1$
12
"�8�
(6#
#$�
"5%
D#%
71$%�%/�$/65
�<���
���<
#$�
���K
0016�6
#/
/4�
%/#./
12
/4�
�>-�.�0�$/�
+10-18$��$�
12
 /4�
 6�G8��
.�G8�.��
#--.1>�0#/�65
� 
0�$�
�4�%
D#%
 21661D��
B5
/4�
/#N�$�
12
/4�
%#0-6�
@��0�$
%#0-6�C
�$/�$���
21.
/4�
��/�.0�$#/�1$
12
/4�
# 7�
/8#6
�$�/�#6
#0�$1
#7��
#$�
+.��,�(
71$7�$/.#/�1$%�
�8./4�.
%#0-6�%
D�.�
/#N�$
#/
��
���
���
<��
��
#$�
E�
0�$
#2/�.
/#N�$�
/4�
��0�$
%#0-6��
�4�
%#0-6�%
D�.�
� 0�
0���#/�65
2.19�$
/1
L��
P+
#$�
%/1.��
#/
/4#/
/�0-�.#/8.�
8$/�6
-.17�%%���
(2/�.
/4�
6#%/
%#0-6�$��
/4�
6�G8��
71$/�$/
12
/4�
.80�$
D#%
.�01����
/4�
.80�$
71$/�$/
. ��
-6#7��
#$�
/4�
7#$$86#
761%���

�4�
+.
 71$/�$/
 12
 /4�
 %#0-6�%
D#%
 ��/�.0�$��
 B5
 #$
 #/10�7
 #B%1.-/�1$
0�/41�
 �00���#/�65
#2/�.
 2�6/.#/�1$
@(/10
(B%1.-/�1$
�-�7/. 1-41/10�/�.�
((�
�E��
 �
 �4�0#�98C�
 8%�$�
 #7�/56�$��#�.
 �#%
0�>/8.�
D�/4
 26#0�
 #/10�%#/�1$�
 #/
��E��
$0
@"�����<)!
�1661D�+#/41��
6#0-C�

�4�
71$7�$/.#/�1$
12
#0�$1
#7��%
D#%
��/�.0�$���
#2/�.
��.��#/�%#/�1$
D�/4
1�-4/4#6��#6��45�����0�.7#-/1�/4#$16
.�#��$/�
B5
�%17.#/�7
�68/�1$
1$
#
.���.%��
-4#%�
 �5-�.%�6
 �
 =,�
 @!���
 !8�#-�%/C
 ���
 Q
 <
 00
 71680$�
 D�/4
 #
 4��4�
-�.21.0#$7�
 6�G8��
 74.10#/1�.#-45
 �$%/.80�$/
 @�3"+H
 "�G8174.10
 '1��6
�����
 "#B1.
'&'
!8�#-�%/�
 "�G81-80-
 ������
=�
 ���
 �$R�7/1.
 D�/4
 #
 ����6
%#0-6�
 #--6�7#/�1$
 611-�
=�
��K
 %-�7/.1-41/10�/�.C�
�4�
01B�6�
 -4#%�
D#%
 #
0�/4#$16
H
-41%-4#/�
B822�.
@�����
016�6?
-�
E��C
0�>/8.�
12
�#.5�$�
.#/�1�
�4�
710-1%�/�1$
12
/4�
�68�$/
8%��
21.
/4�
0�#%8.�0�$/
12
/4�
/4.��
#0�$1
#7��%
�%
%41D$
�$
�#B6�
��
�4�
��/�7/�1$
D#��6�$�/4
D#%
���
$0�
#$�
 /4�
261D
.#/�
12
/4�
 �68�$/
D#%
��K
 70��0�$
 @"�$�.1/4
 #$�
'1--�.�
 ��E�C�
�4�
74.10#/1�.#0%
D�.�
��#68#/��
D�/4
/4�
4�6-
12
#
"#B+4.10
@+4�01/.1$
"/���
!8�#-�%/C
71 0�
-8/�.�%��
�#/#
7166�7/�1$
#$�
-.17�%%�$�
%5%/�0�

;%�$�
/4�
0�#%8.��
+.��,�(
71$7�$/.#/�1$�
/4�
6�G8��
71$/�$/
12
/4�
. 8�
0�$
D#%
7#6786#/��
B5
#
%�0-6�
��68/�1$
21.086#
#%
21661D%H

��
Q
7�
J
��
Q
7�
��
T
LLLLLLLLLLLLLL

7�
D4�.� ��
T
����
06

��
T
�
06
@/4�
�1680�
12
+.��,�(C
��
T
6�G8��
71$/�$/
12
/4�
.80�$
#/
/4�
/�0�
12
%#0-6�$�
@06C
7�
T
1.���$#6
+.
71$7�$/.#/�1$
12
/4�
�$R�7/��
6�G8��
@--0C
7�
T
+.
71$7�$/.#/�1$
12
/4�
+.��,�(
%/17N
%168/�1$
@--0C
7�
T
+.
71$7�$/.#/�1$
0�#%8.��
#/
/4�
/�0�
12
%#0-6�$�
@--0C

�4�
#0�$1
#7��
 71$/�$/
12
 /4�
 .80�$
D#%
 7#6786#/��
1$
 /4�
B#%�%
 12
 /4�
6�G8��
�1680�
#$�
 /4�
 71$7�$/.#/�1$�
�1.
 �#74
#$�0#6�
 /4�
 #0�$1
#7��
G8#$/�/5
0�#%8.��
�$
/4�
��0�$
%#0-6�
D#%
/#N�$
#%
���F�
#$�
/4�%
%�.���
#%
#
B#%�%
21.
��/�.0�$�$�
/4�
-�.7�$/�6�
�#68�
12
#B%1.-/�1$�



K< ������������
�/
#6�

����������	
��	����

��	�����������

��%!�
&

����������	��
������
��	�������
����������������	�

�
����	���������	��	������	�

(0�$1
#7��
341%-4#/�
B822�.
@FC
@�����
016�6�
-�
E��C

'�/4#$16
@FC

�
� �� ��

��� �� ��

��� �� ��

���'!��

�80�$
 268��
71$/�$/
 �$7.�#%��
71$/�$818%65
 #$�
 8%8#665
 #/
 #
 %/�#�5
 .#/�
�8.�$�
/4�
�>-�.�0�$/%�
�4�
#��.#��
.#/�
12
�$7.�#%�
D#%
K��
06
�$
E�
0�$�

���

�

��

��

��

��

���

� �� �� �� �� 	� �� 
� ��

��
������������������

�
�


�
��
�
�
��
�
��
�
��
�
��
��
�
��

��
��
��
��


�
�
��
�
��
�
��
�
��

�������

�������

� 
���

��� ������
�� 
����

%	
��������������	��
��
�	�	���
����	���	��
���	��
�������������
��������	������	



(!�=�3�&=)
=�
('&)=
(+&,�
��='
���
�;'�) K�

����������	
��	����

��	�����������

�4�
71$7�$/.#/�1$
12
"�8
#$�
(6#
D#%
-.#7/�7#665
8$74#$���
�$
/4�
.80�$
71$/�$/
�8.�$�
/4�
E��0�$
�>-�.�0�$/�
&/
#--�#.%
/4#/
"5%
7#$
B�
#B%1.B��
#7.1%%
/4�
 .80�$
D#66�
 #%
 �$
 /4�
 #��.#��
 12
 �>-�.�0�$/%
 -�.21.0��
 1$
 /4.��
 #$�0#6%
<�F
12
/4�
"5%
�$28%��
�$/1
/4�
.80�$
D#%
61%/
2.10
/4�
.80�$
6�G81.
�$
E�
0�$�

�4�
 �.#-4
 %41D�$�
 /4�
 #��.#��
 �#68�%
 76�#.65
 ��01$%/.#/�%
 /4#/
 /4�
 1 B�
/#�$��
#B%1.-/�1$
�#68�%
D�.�
��.5
761%�
/1
/4�
-165$10�#6
/.�$�
6�$�
2�//��
/1
/4�
0�#%8.�0�$/
 -1�$/%
 B5
 /4�
 �>7�6
 -.1�.#00�
 @5
 T
 L�����E 
>�
 J
 ���E�K
>
 J
E���<�C�
=$65
/4�
�#68�%
1B/#�$��
#/
�
0�$
%41D��
#
.�6#/���65
%8B%/#$/�#6
���� #�
/�1$
2.10
/4�
#B1��
�G8#/�1$
@����
�C�

� �('�� �"

��.5
2�D
�#/#
4#��
B��$
218$�
�$
/4�
6�/�.#/8.�
1$
D4�/4�.
1.
$1/
#0�$1
#7��%
#.�
#B%1.B��
/4.18�4
/4�
.80�$
D#66�
=$�
418.
#2/�.
2����$�
/4�.�
�%
#
%� ��
$�2�7#$/
 �$7.�#%�
 �$
 /4�
 71$7�$/.#/�1$
 12
 2.��
 #0�$1
 #7��%
 �$
 /4�
 .80�$
 6�G81.�
�10�D4#/
6#/�.
/4�%
�%
21661D��
B5
/4�
.�%�
12
B611�
-6#%0#
2.��
#0�$1
#7��
71 $�
7�$/.#/�1$
@"��B4169�
����C�
�4�
4��4�%/
71$7�$/.#/�1$
12
2.��
#0�$1
#7��%
�$
/4�
.80�$
6�G81.
7#$
B�
0�#%8.��
�$
/4�
�$�
1.
�.�
418.
#2/�.
2����$�
@M16B�
��E<C�
�4�
.�6#/���
-.1-1./�1$%
12
2.��
#0�$1
#7��%
�$
/4�
B611�
-6#%0#
D�.�
218$�
/1
B�
�$��-�$��$/
12
/4�
-.1/��$
#$�
#0�$1
#7��
710-1%�/�1$
12
/4�
���/
@"��B4169�
����C�
(771.��$�
/1
 	
�#	��$
%/8���%�
�657�$�
�%
/.#$%-1./��
�$/1
/4�
.80�$#6
�- ��
/4�6�80�
 �4#/
 /.#$%-1./
 7186�
 B�
 %8%-�$���
 D�/4
 ��<���$�/.1-4�$16
 #$�
 �$�16�
#7�/#/��
D4�74
%8���%/%
/4#/
#$
#7/���
/.#$%-1./
-.17�%%
0#5
B�
�$�16���
@+4#$�
�/
#6��
���KC�
"��B4169
@��E�C
#6%1
8%��
#$
 	
�#	��$
-.�-#.#/�1$
/1
%/8�5
/4�
/.#$%�
-1./
12
"�4�%/���$�
 #$�
�657�$��
!1/4
12
 /4�%�
#0�$1
#7��%
 7.1%%��
 /4�
 .80�$#6
�-�/4�6�80�
#$�
/4�
.#/�
12
/4��.
/.#$%-1./
D#%
71$7�$/.#/�1$
� �-�$��$/�

�4�
 .�%86/%
12
18.
-.�%�$/
%/8�5
 �$��7#/�
 /4#/
$1/
#66
 /4�
#0�$1
#7��%
#.�
/.#$%-1./��
/4.18�4
/4�
.80�$
D#66�
�4�
71$7�$/.#/�1$
12
/4�
/D1
#-16#.
#0�$1
#7��%
@"�8�
(6#C
.�0#�$��
-.#7/�7#665
8$74#$���
�8.�$�
/4�
�>-�.�0�$/�
�4�%
� $�
��7#/�%
/4#/
/4�%�
#0�$1
#7��%
��/4�.
D�.�
$1/
#B%1.B��
1.
/4�
.#/�
12
/4��.
/D1�
��.�7/�1$#6
/.#$%-1./
#7.1%%
/4�
.80�$
D#66
D#%
.18�465
/4�
%#0��
"5%�
#$
#0�$1
#7��
D�/4
#
-1%�/���
74#.���
%41D��
��.5
.#-��
#B%1.-/�1$
#/
/4�
B���$$�$�
12
/4�
�>-�.�0�$/�
D4�$
#0�$1
 #7��
 71$7�$/.#/�1$
D#%
 .�6#/���65
 4��4�
 �8B%�G8�$/65�
�/%
#B%1.-/�1$
.#/�
��7.�#%��
�$
-.1-1./�1$
/1
/4�
2#66
12
#0�$1
#7��
71$7�$/.#/�1$
�$
/4�
.80�$
6�G81.�
�4�
�$�/�#6
.#-��
#B%1.-/�1$
#6%1
�>-6#�$%
/4�
0#.N��
��22� .�
�$7�%
 2.�G8�$/65
 218$�
 B�/D��$
 /4�
 ��0�$
 �#68�%
 ���$
 �2
 /4�
 71$7�$/.#/�1$
 12
#0�$1
#7��%
�$28%��
�$/1
/4�
.80�$
�%
���$/�7#6H
$#0�65�
/4�
/�0�
.�G8�.��
21.
/4�
-.17��8.�%
/1
B�
-�.21.0��
#2/�.
/4�
�$28%�1$
12
#0�$1
#7��%
�%
$���.
/4�
%#0�
�$
/D1
�>-�.�0�$/%�



K� ������������
�/
#6�

����������	
��	����

��	�����������

�()"��!��*�#�"��

�4�
#8/41.%
/4#$N
/4�
�8$�#.�#$
�7��$/�2�7
��%�#.74
�8$�
@=�M(C
#$�
/4�
)M!
+100�//��
12
 /4�
�#786/5
12
��/�.�$#.5
�7��$7��
�9�$/
 &%/�:$
;$���.%�/5�
!8�#-�%/
 21.
2�$#$7�#6
 %8--1./
 -.1�����
 21.
 /4�
 %/8�5
 @-.1R�7/
 $80B�.%
=�M(
�
������
 #$�
)M!�
�����M;��<�!����C�
#$�
":%96U
��.�%��54:95
21.
-.�-#.#/�1$
12
/4�
761%�$�
����7�
#$�
7#$$86#
8%��
�$
/4�
�>-�.�0�$/�

��+���"(��

���
����� !� "��#�$%� &�'�������	� �
� ���	�� ������ ��� ���� ��(��� ����	� ��������
� ����
����	!� )!

�	��!�*��!�,-��+,+-+.�!

���	���&!��/������ *!�&!� �	��0���������1!�2!� *!� "���+$%�������� ���	������ �
� '
���	�� ��� ����	

������
�����
�����
�'����!�)!�&�����*��!�.&����,�-��,,!

3	'�
��������!� !��	��*�

��		��4!�2!�"��#,$%�1��������	��	��*�5�����	��	�2�	��	�����6��	�5��

"&����
��
��$�$!�7�
!�/��!�8��!���&/����#-�.,!

9��������

��8!��!��������� !�)!�)�!�����5�	���4!�1!�����	�����3!�*!��	�� ���������8!�&!�"��+.$%

3

����� �
� ��������	� �	� ����	�
� ������	���� ���������	� �	�� ���	�� ����� ��'�������	� �	

������
�����'���	��
���
����������!�)!�:���!�&&-���.��-�.�,!

0�
���3!�"��#�$%��������������2�����
�'�������4��������!�6������9�������/��
�'��)�	���.�����!

������
;��)!�"����$%�3

�����
�������	�������	��	������	��
�
�������	�������������	����	��������	

��������	�
�<�����	���
�����
������
����������!�)!��	��!�*��!�0/���,+-�..!

������
;��)!�"��#�$%�=������������	��
����	��������
������������	��
�����������>>!�=������	�
����


�������	���'
���	����	������	������������������	�������
����	
�#	��$!�����!�)!��'���!�1��!

00����#-��.!

��	�������2!� �	��8�������0!� "��#�$%�4�'�����
����	��� 
�<���� ��������'������� �������	����	��


���������
�� ����	��� �
� ���	�� ������ ��� �����
��	� 

�������	��� ��������;����	� ����� �?

�����
���
������!��	�
��!�����!�.&�����#-��#�!

/�����'��@;���=!��9�5�����*!��	��������%�
'�
@����CH
�#7/1.%
�$268�$7�$�
.80�$#6
B#7/�.�#6
#7/��?
����>!�3

�����
��	�?����������	��	������	��	�������
�������������!�)!��	��!�2�����
!��	��!

:���!�12���-�!


